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QUESTION 1
What is the expected output of the following code?

data = ((1, 2),) * 7
print(len(data[3:8]))

A. The code is erroneous.
B.6
C.5
D.4

Correct Answer: D

QUESTION 2
The // operator:

A. performs integer division
B. performs regular division
C. does not exist

Correct Answer: A

QUESTION 3

What is the expected output of the following code?

lcollection [ ]

collection.append(l)

|collection. insert (0, 2)

|duplicate = collection
duplicate.append(3)

|print (len({collection) + len(duplicate))
A.5

B.4
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D. The code raises an exception and outputs nothing.

Correct Answer: D

Explanation: The code snippet that you have sent is trying to print the combined length of two lists, "collection" and
"duplicate". The code is as follows: collection = [] collection.append(1) collection.insert(0, 2) duplicate = collection
duplicate.append(3) print(len(collection) + len(duplicate)) The code starts with creating an empty list called "collection”
and appending the number 1 to it. The list now contains [1]. Then, the code inserts the number 2 at the beginning of the
list. The list now contains [2, 1]. Then, the code creates a new list called "duplicate” and assigns it the value of
"collection". However, this does not create a copy of the list, but rather a reference to the same list object. Therefore,
any changes made to "duplicate" will also affect "collection”, and vice versa. Then, the code appends the number 3 to
"duplicate”. The list now contains [2, 1, 3], and so does "collection”. Finally, the code tries to print the sum of the lengths
of "collection" and "duplicate". However, this causes an exception, because the len function expects a single argument,
not two. The code does not handle the exception, and therefore outputs nothing. The expected output of the code is

nothing, because the code raises an exception and terminates. Therefore, the correct answer is D. The code raises an
exception and outputs nothing. Reference: [Python Institute - Entry-Level Python Programmer Certification]

QUESTION 4

What is the output of the following snippet?

def funix, v, z):

return x + 2 ¥ y + 3 ¥ z

print{fun(®, z=1, y=3))

A9
B. The snippet is erroneous.
C.0
D.3

Correct Answer: A

QUESTION 5

What is the expected output of the following code?
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fruitsl = [ "Apple’, 'Pear', 'Banana']
fruits2 = fruitsl

fruits3 = fruitsi[:]
fruits2[@] = 'Cherry’
fruits3[1] = 'Orange’
res = @

for 1 in (fruitsil, fruits2, fruits3):

if- afa] = 'Cherry':
res += 1
if 1[1] == 'Orange’:

res += 16

print(res)
A. 22
B. 12
C.0
D. 11

Correct Answer: B
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